0 (a) WS10, R? = 0.9969

q
0.8 -
[
wn
= 0.6 -
a e
E
0.4
ol
@)
0.2
0.0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0
WRF output RMSE
0 (c) SAP, R? = 0.8823
0.8 -
[L] q
n o
> 0.6 -
r ®
i)
[ (]
0.4 o o
(ol o o
@) &3
0.2 1
[ 4
0.0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

WRF output RMSE

0 (e) PBLH, R? = 0.9578

(9
|
0.8 1 ..0
543 o086, °
> 0.6 - .$
a e o
& °s'e
0.4 1 o
a,
@) °
0.2 ¢
0.0 . . . .
0.0 0.2 0.4 0.6 0.8 1.0
WRF output RMSE
0 (g) DSWRF, R? = 0.9868
|
0.8 1 ®
1] °
wn
= 0.6 -
o
= @
[dm
2 0.4 - ¢
% °
0.2 1
°
0.0_ T T T T
0.0 0.2 0.4 0.6 0.8 1.0

WRF output RMSE

0 (b) SAT, R? = 0.9906

GPR fit RMSE
< < o
iN o) o)
9

o
N
®

o
o

02 04 06 08 1.0

WRF output RMSE
0 (d) RAIN, R% = 0.9782

0.0

GPR fit RMSE
< < o
IN o) o

—
o

O. T T T T
0.0 0.2 0.4 0.6 0.8

WRF output RMSE
0 (f) OLR, R? = 0.9718

1.0

o o
o) o

GPR fit RMSE
O
N

02 04 06 0.8
WRF output RMSE
0 (h) DLWRF, R% = 0.9851

1.0

GPR fit RMSE
< o o
iN o) o
®

o
S

0.0 -

00 02 04 06 0.8

WRF output RMSE

1.0



